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Apply Your Learning
Problem 1

You're going to build your little cousin a sand box that is going to fit into the corner of his
family's lot. It will be in the shape of a right isosceles triangle and is to have an area of 64 ftz.
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i) What lengths of would will you need to construct the sand box? Round the lengths to the rnextlargest
foot. =L ) i ’
To Fnd the side leagths, use A= a”
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ii) If you're going to have to pay $2 per foot, what will be the cost of the wood (before taxes)?

L\ CoNTINUED . The last side \e,A.-}nLh (s 3&\;@,« by -idivta .

e Loz (3 212.9 £+
o l " \ { ‘
LidiLa s To +ha reares -Cuof‘ Fhe S and ‘ocx wi

howes side Vs o 1EHE, 1F4 ) and (364

Problem 2

Your cousin's neighbour happens to have a sandbox--also in the shape of a right isosceles
triangle. The perimeter of the box is 45 feet.

What is the area of the neighbour's sandbox? Round to the nearest square foot.
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